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.WHATIS 5 + 3?

A) 6
B) 7
C)8
D) 9
E) 10

2.IF YOU HAVE 4 APPLES AND YOU GET 2 MORE, HOW MANY APPLES DO
YOU HAVE NOW?
A) 5
B) 6
C)7
D) 8
E) 9

3.WHAT NUMBER COMES NEXT IN THE PATTERN: 2, 4, 6, 8, ...?
A) 9
B) 10
Cc)n
D) 12
E) 14

4.HOW MANY LEGS DO TWO DOGS HAVE IN TOTAL?
A) 4
B) 6
C)8
D) 10
E) 12

5.WHICH SHAPE HAS 4 SIDES?
A) TRIANGLE
B) CIRCLE
C) SQUARE
D) PENTAGON
E) HEXAGON
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6. If you have 7 candies and you eat 3, how many candies are left?
A) 3
B

O

) 4
)
)

O

5
6
E)7

7. What is 10 - 2?

8. How many fingers are on one hand?
A) 3
B

O

) 4
)
)

O

5
6
E)7
9. What is the next number in the sequence: 5, 10, 15, 20, ...?
A) 25
B) 30
C) 35
D) 40
E) 45
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10. If you have 3 red balloons and 2 blue balloons, how many balloons do
you have in total?

A) 4

B)5

O

)5
)
)

O

12. Which number is smaller, 8 or 6?
A) 8
B) 6
C) Both are the same
D) Neither

E) Cannot tell

13. How many days are in a week?

oJ
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14. If you have 4 toys and your friend gives you 3 more, how many toys do
you have now?

A) 5
B) 6

O
O o

)
)
)

m O

)

15. What shape is a stop sign?
A) Circle
B) Square
C) Triangle
D) Rectangle
E) Octagon
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Answers and Explanations

1.C)8
o Explanation: Adding 5 and 3 gives 5+ 3 =8.
2.B) 6
o Explanation: Start with 4 apples and add 2 more: 4 +2 = 6.
3.B)10
o Explanation: The pattern increases by 2 each time: 2, 4, 6, 8, 10.
4.C)8
o Explanation: Each dog has 4 legs, so two dogs have 4 + 4 = 8 legs.
5.C) Square
o Explanation: A square has exactly 4 sides.
6.B) 4
o Explanation: Subtract the 3 candies you ate from7:7-3 =4.
7.C) 8
o Explanation: Subtracting 2 from 10 gives 10 -2 = 8.
8.C)5
o Explanation: One hand has 5 fingers.
9.A) 25
o Explanation: The pattern increases by 5 each time: 5, 10, 15, 20, 25.
10.B)5
o Explanation: Add the balloons: 3 red + 2 blue = 5 balloons.
11.C) 6
o Explanation: Adding three 2's gives2+2+2=6.
12.B) 6
o Explanation: Comparing 8 and 6, 6 is the smaller number.
13.C)7
o Explanation: There are 7 days in a week.
14.C)7

o Explanation: Start with 4 toys and add 3 more:4+3=7.
15.E) Octagon
o Explanation: A stop sign has 8 sides, which is an octagon.
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